
2. (20 73') ~~ 

'Kfz, i#jJ{ 

3. (20 73') 

Q ~MtR BC J:.~-"~, 5U~ P ~-=-~% ABC jJg-r~iL P 1± AQ MtftJ:.o *' a, b, c ~iE 

XI	 YI 21 

(b)	 3Rrr1IJJ't Xz	 YZ 2Z 

4.	 (25 73') -~~-:r-wt;ft~fiJ:.Wt, 

.'f?lL3IOJt: al = L az = 2, a3 

(a)	 ~fl)L 1t II ~ 3 at, an = 

----+ ----+ -----7 
aPA +bPB +cPC = 0 

~ a~ 

PQ = b+cAP 

~~jdEi., jt.rpi)(.·~JU#jJ{ x; + x; + xi = 1, Y; + Y; + yi = 2 "& 

t:~*-lif~wt-jlfE,itmjlfo 4'- an *~~-:r-WtiIJ~ II jlf~J')f~lif~~jj*t::§lo 

= 3, a4 = 5, as = 80 

an-I	 + an-zo 

(b)	 ~-:r-WtiIJ~ -=- jlf ~ lif~jj*~ (1, 1, 1) IlP - jlf, -jlf, -jlf; (1,2) IlP -jlfff.=.jlf; (2, 1) IlP .=.jlfff-F~\ 

J')f~ a3 = 30 Jf]1tti1IJ.J')f~lif~~~jj***fl)j as = 8, "& a6 = 13 0 

(c)	 ~fl)L 

[nIZ] 

C n	 k'"' ­an =	 ~ k 

k=O 



--- ------

-----

5.	 (25 7f) lf1-0-§,].~1)HflfilrfJJ, fLJI#JtzP!if ~iJlltdl~ilrfJJ, tdltf 1 ~::lf !iff-lf-~~*-Jl#J~1ID.~~0 ~ft#, tdl 

tf 2 ¥!It::lf~f-lf--flt:Jdl-*-~~-t-, Pi~~JZ~I~A{f~~L1:-*-*tdltfi:~~~ 0.9 1ti~ft#:, tdltf 3 ~ r~~~ 

lJU, tzP~~f~111iif~:q[0 .~J*jJt, 3/11:Jlt1KJftdlilJ 2 ¥!It, 2~, 1 ~, J!IJ!ifIV-~f~JI#J~~~ 0.81 1:g-~;ft~0 

1fJ..t~4lj--*-:Jdl~, tdltf 1 ~~~-t-~ a > 0, tdltf 2 ~~~-t-~ fJ > 0, tdltf 3 ~~~-t-~ y > 0, ffi111 

a+fJ+y=1. 

(a)	 1i\*-JI#Jtdl~JOCM-!if tdltf ft#:~~$? 

(b)	 -¥:l:$J-100lj(:t-J'l:Jdl~*-;flmqJt*~* tf~? 

(c)	 1~H~~-0-§']4lj-1iLlj(:t--¥:l:$JJI#J~~ 1000 ft, 1i\*-¥:l:$J4lj-1ftlj(:t-~tf~~~0 

A
 

D
 

............ ...A.... 
i1 (a) III (b) 

(b)	 ~l~~#.IX.-1df}~ BD MttJT~, A, B, C 1f~WJ:., D 1'fJ:.7J, J1 LADe = 60°, 3/111ll (b)o ~1U!gOOft 

ABCD ~ft~o 

7.	 (20 7f) :to r + ,Jr ~7J«Jt x 3 + ax + b ~-tlt, jt.tf a, b, r ~*J!~ll ,Jr ~1!J!~0 

(a)	 MtFJA r 3 + 3r 2 + ar + b = 0 JJ... 3r 2 + r + a = 00 

(b)	 JfJ (a) ~jt.1tE.7J*, MtFJA r - ,Jr ~7J«Jt x 3 + ax + b ~ jJ-tlto 

(c)	 'i a =I- ~ at, *- r ~ 1ID.o 



8. (L5ft)>Jt 
1023 

I)log2 n], 
n=1 

9. (15 ft) ~;tiE:f'ftt n > 1, JIJ e i~~ 0 < e < no *flA: sinne < nsineo [f{;if;: liJ~:l.)fJtt.nifg~o {PJIJ 
0*..: sin(a + 13) = sinacosf3 + cosasinf3o] 


